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EXERCISES 

 1. Put the verbs in brackets into the correct tenses. 

 1.- If you __BE______ (be) a professional basketball player, who ___PLAY______ (you/play) for?  

2.- If he ______NOT STUDY___ (not study) now, he won’t have time later.  

3.- If Susan had taken the map, she ___NOT GET_____ (not get) lost.  

4.- Where would you go on holiday if you __CAN_______ (can) choose? 

 5.- The teacher ____BE_____ (be) angry if you didn’t do your homework. 

 6.- What _____DAS__ (you/ give) me if it were my birthday tomorrow?  

7.- If we recycle more, there _____NOT BE ____ (not be) so much rubbish. 

 8.- If they had something to eat, they ______NOT BE ____ (not be) hungry. 

 9.- If we ______HEAR ___ (hear) the weather forecast, we wouldn’t have gone to the beach. 

 10.- What ____BUY YOU _____ (you/buy) if you had a credit card?  

11.- If they _NOY HURRY _______ (not hurry) up, they will miss the film. 

 12.- If the bus ___NOT ARRIVE _____ (not arrive) soon, we’ll be late.  

13.- If they had phoned me yesterday, I __I GIVE _______ (give) them the news. 

 14.- If I ____I BE _____ (be) you, I wouldn’t eat so many sweets. 

 15.- We’ll go for a walk unless it ____IT RAIN ____ (rain).  

16.- If the North Pole ____WILL MELT____ (melt), the water would flow many cities.  

17.- If we _____KNOW ___ (know) it was Paul’s birthday, we would have sent him a card.  

18.- If you play the music too loud, you _WAKE UP________ (wake up) the neighbours. 

 19.- My father doesn’t feel happy unless he __SWIM______ (swim) every day.  

20.- If the river had frozen, my friends and I _____WE WOULD GO____ (go) skating.  

21.- If people used bikes instead of cars , there __LESS_____ (not be) so much pollution.  

22.- If our team had scored another goal, we _WE WOULD HAVE CATTLE ________ (win) the 

championship.  

23.- If the waiter _______NOT SERVE ___ (not serve) us soon, we’ll have to leave.  

24.- We’ll have dinner outside in the garden, unless it ___START TO _______ (be) too cold 

 25.- When you heat wax, it _MELT _______ (melt). 



 

2. Which type of the Conditional sentences is used? 

 1) If I find your key, I'll tell you. 

 a) type I (condition possible to fulfil) 

 b) type II (condition in theory possible to fulfil)  

c) type III (condition not possible to fulfil - too late)  

2) Daniel would have been home on time if the bus had come.  

a) type I (condition possible to fulfil)  

b) type II (condition in theory possible to fulfil)  

c) type III (condition not possible to fulfil - too late)  

3) She would be very happy if her friends came. 

 a) type I (condition possible to fulfil) 

 b) type II (condition in theory possible to fulfil) 

 c) type III (condition not possible to fulfil - too late)  

4) My parents would have bought the house if it had been cheaper 

a) type I (condition possible to fulfil)  

b) type II (condition in theory possible to fulfil)  

c) type III (condition not possible to fulfil - too late)  

5) If you had done your homework, you could have written a better test. 

 a) type I (condition possible to fulfil)  

b) type II (condition in theory possible to fulfil) 

 c) type III (condition not possible to fulfil - too late) 

 6) If it rains, I'll wear a raincoat.  

a) type I (condition possible to fulfil) 

 b) type II (condition in theory possible to fulfil) 

 c) type III (condition not possible to fulfil - too late) 

 7) If it wasn't so late, I would go shopping. 

 a) type I (condition possible to fulfil)  



b) type II (condition in theory possible to fulfil) 

 c) type III (condition not possible to fulfil - too late)  

8) If they had driven carefully, they wouldn't have crashed into the other car. 

 a) type I (condition possible to fulfil)  

b) type II (condition in theory possible to fulfil) 

 c) type III (condition not possible to fulfil - too late)  

9) What would you do if you saw a robber? 

 a) type I (condition possible to fulfil) 

 b) type II (condition in theory possible to fulfil) 

 c) type III (condition not possible to fulfil - too late)  

10) If Lisa had got up earlier, she would not have been late for work. 

 a) type I (condition possible to fulfil) 

 b) type II (condition in theory possible to fulfil) 

 c) type III (condition not possible to fulfil - too late) 

 

3 - Finish the sentences. Use the correct phrases.  

1) If Amy does the washing up,  

a) her brother will clear the table.  

b) her brother would clear the table.  

c) her brother would have cleared the table. 

 2) If he learned the new words, 

 a) he can get a good mark in the test.  

b) he could get a good mark in the test. 

 c) he could have got a good mark in the test. 

 3) I would go to the party 

 a) if you come with me.  

b) if you came with me. 

 c) if you had come with me. 



 4) If we had seen the film, 

 a) we will not buy the DVD.  

b) we would not buy the DVD. 

 c) we would not have bought the DVD. 

 5) My uncle would stay longer in York 

 a) if he has more time. 

 b) if he had more time.  

c) if he had had more time. 

 6) The teacher will not be happy 

 a) if we forget our homework again. 

 b) if we forgot our homework again. 

 c) if we had forgotten our homework again. 

 7) If I were you, 

 a) I will not play hockey. 

 b) I would not play hockey.  

c) I would not have played hockey. 

 8) If you drove from Paris to Lisbon,  

a) which way will you go? 

 b) which way would you go?  

c) which way would you have gone? 

 9) If you wait a minute, 

 a) I'll go with you.  

b) I'd go with you. 

 c) I'd have gone go with you.  

10) You would have slept much better 

 a) if you will take your medicine. 

 b) if you took your medicine. 

 c) if you had taken your medicine. 


